A=

HE BB URA R A BB U SRR THIRIINE, HE+RENRATRR = RiEA. fi7H
iz, WE R B AT RN PEFIS LT oIEFTT RS~ miziE.
HERE U R P B E T T X BB R SR SR A ARE
- 583 5000R AR RS FIE R R T KBS ERHFXR
(BE500 0 EF B EEIT T ELRBENR. R HAEamRES =4 L
TEBSN, REIT IR R RERMES H ENEFEIREFIEHN B
PHZRH LIS E RS 2L 5, EAR B IR SR A B, R RSt BIE RITHIE A, S HDEEER
ARBKHE SRR ATRIERIT A RN S 2 RIERERABANTRSRS P, TR S ZHEE.
SizH TZREmERIRTIA RS~ Mo
20154, BHERMR RS | B AT HERX A RIS A (REAIZ002139) WA R B, iFEEFRIEE
RPARFHEFE R RE S TR —E, HRARITFIEESN. EE . EE SR EEMS !

YAKO has been the main provider of Chinese motion control products and solutions for more
than ten years, with our spirit of independent innovation.

We effectively improve the performance of key components of motion control and save design
costs for customers:

m Established long-term partnership with 3,000+ automation equipment manufacturers

m  More than 3 million sets of products are stable running in all kinds of high-precision grasping,

conveying, feeding and other automation equipment and production lines.

Based on precision-controlled stepping and servo motor drive technology, YAKO integrates
the most advanced precision control algorithms, multi-axis cooperative communication technology,
pulse signal optimization technology,reliability design method, testing and whole process quality
control technology into products and services. We continuously developed a series of motion control

solutions and products with various precision and multiple control processes.

CONTENTS

B=R

AS2RB 8 SARARRL CR P
O3 coommmsn 10 snssmms
OS5  gasesaumms 17 .5

O7 sossomssss 1B wzus
OB euney 20

20n =

PSDD#7!

fal iR 2 RGOz

AS1%3%

R fEBRIRED R R fEIBRIR D R

AS2Z5
RGeS
B

R ERIRE RS

2020 =

AS3R7
k=S N A
2H—H

R fEIRIRE R




EtherCAT ASE

¥ﬁ—ﬁ,§é§§ﬁﬁﬁﬂﬁ New Generation Bus Servo

@ R i

A IF1IMsAES 100N ; 1. 2kHZR EIR f 5

A

HXHEIRITER 0 PFEAF23bit, HHY F0.15/F); £20nsEF HEn15nsEH IR E

518

FLR S5 E; SN O EMER A

{7Ul MR ol

HLS8 A BFEEIR. 3C. FB T 0% HEBENL. SEFH. T A0TSR ARG B =
SR LEDIR & EDRINI, &S i

mwO 1

— 01 — — 02 —



I EtherCATE &R AR

= EtherCATYIER!

==

|EC61158-5/-6 Type 12

TCP  UDP
access function P
Ethernet

FoE I AoE I EoE ISoE ICoE

8bit  8bit 32bit 16bit 16bit

L1 =
!

i MDT

16bit 16bit _6bit _2bit _4bit _4bit bt 3bit 4bit  gpyies 2bytes T §E Ty

= SR | W | it Mailbox
[ [ooe [ on [ena] == [oma] =

CoE (CANopen over EtherCAT)
CIA40211Y

R IR (hm)

[R5 BB (csp)

[F)45 AR AR, (csv)

ICoE/SoE [F1% AR AE AR, (cst)

e T e

E345:100BaseTX or 100BaseFx
(BAEHIEFEL00M)
1%#&MER: E-Bus (LVDS) RJ45EO

(o [ el we v

10 bytes 51486 bytes i2 bytes

HE;
| BN RERERRGIIESR, TRUMHES, K18
ARREIR ST AT — MEIARAHEIRERY R Lus,

L

Ethernet/EtherCATHE =t I e Y
s Rt Sy 2bytes 2ty e syes st
= EtherCATHEZOEAR
—MiEIE g
« EtherCAT—MEUER 2R ARNALI4T0F T, HURTER « 5/ EtherCAT MILTE MULIZHIZZESCHAERERH BY #
XAEIEERIE ] LUMEBEARIN, Mtk RFE D F/ AL, BUASAB SR

* &P EtherCATEUAAIER T BT SR, DU BhBT$h;

o EtherCATRIZZIESE— M MILBTH S S E B, &
ERPMEREN RAMNRAET S, Fra e e g ket
HERSE RN EES;

* 7EEtherCATILEH, DHRBISHRI LUBZRIF(ES
(SYNCES) fFFAEtherCATIR & EFAAERIN RS

* BYiE), NmiEHIEEEES MRS NIT;

* SYNCIESRIZFEREIARL A,

ES e

1 Dheeksis

= EtherCAT{IRR

o fEHIREE:2x100Mbps (£ T) , BIFATIE] : 100%H X 1us/HhEERT=0.1ms
o XEFImsEE AR, /NFImsIER T LS 5250 s B ERERIE) 2 (B8, & 8 FRE L. ENRIAN 5 S2aY

MEREHIT,
B EENCPIEHIEB I
EtherenT™ \_‘ HTEEONOEEIE TS (e g S
s
Y Y
Ea3')
CANopen EtherCAT
T=2ms T=250u(%)
= o = K X
R R RS BH AT RS0
== =
= RS

o BRTENRIAL. BESEN ARV KR E £ 4F

o BT EtherCATHTRBY HRAVFE ETAEE R L300 N T R 120mEEES, 15nsFIFIRE . £20nsEHHIE,
14:00

M a0 v ChE Fany H3oAne A Ch1 W LB Vo
w0 e0000 =

EESIRERARRTRKEIRS S S HNERE; AERaERSES
B E R E TR E.

» KIEETHECL

o SR SREIRIKER R ENRIAL. == IR Eefwﬂ
EZHgE

* FEFARJASHE OB Tl LUK ML R LURERERE, KiE
HERATFE.

— 04 —



I ERRIXEHEE a5 AN

AS2

ZRMABRET!

(

AS2: HHEAS2RF
2R

I - XX

04 B N

x) @z E=xp) G5

I BiR%E

B:220v

02:200W. 04 : 400W
10:1KW.15: L5KW
30:3.0KW

N:EtherCAT2 4!

XX: & Hl

1 EARIRENEE R~ K Fg

Al AR X Th 23 HEA%

Lk L(mm) H(mm) D(mm) L1(mm) H1(mm) D1(mm) w2247,
AS2 Frame B 58 160 177 48 150 75 2-M4
AS2 Frame C 90 160 188 80 150 75 2-M4
SMEIRST SIZEB SIZEC
RepERALS AS2-02BNI AS2-04BNI AS2-10BNI AS2-15BNI AS2-30BNI
LR R IRArmS 16 2.8 55 76 116
AL ERAmMS 5.8 10 17 17 28
FEREREBIR FFHAC200V-240V 2 fH3L =4HAC200V-240V,+10%~-10%,50/60Hz
BLERINEE AISMEIEh B REFIENEBFE
1R RS ERIR EAFHAC200V-240V,+10%~-10%,50/60Hz

m EAE
. ERIRRE:0°C~50°C
A ETEREE 1-20°C~85°C
B 0~90% RHIA T (B BEIFR)
1EFEIRE ERBE 7EHR1000mIL T
=D/ A <1G
IPELR /S RE IP20/55 35 4%2
7% IGBT PWM=ZS[a] & &4l
YRiDER 17biteR{TIG B AL/ 1TbitRTAENE R /23bit R THG B AL/ 23bit BRI TAITEY
LTI 81 (@A)
BANRHIHRO 0155
o) 54 (@A)
EETE RS2 | SPCrzss, @it FIRRIRENER D
ERIRIEER LEDER
BAEIRINEE 1000WR A LAt &R EB LR
RIPTHEE R I H I BERBECDRE IR REESRE.
BERE IEREIASF
st BRRRE (L EEH] (CSP) ; AARREREZHI (CSV) ;
ARSI FEIEH] (CST) ; BB (HM) ;
m INEERIAR
I Em<HER EtherCAT R4 #F &
i EfEHIEN FIRISRER MBS MR, (EEEHETBRIRE
RIS A RIS ST, REFHIRINE, RIBRFTITIRE
SIS EtherCAT R4 #F &
R FEHE+10%:0.5% GAEEET)
HEREHIET HRETHE | HHKE 0-100% #iAY : < 0.5% (FEFLE )
BEERTH 25+25°C: < 0.5%(ENEFET)
IR ESEE 0-10S
BEBIEHIE LEE3i7] EtherCATRE&HF 2
I WS EtherCATR & #F &
EIZARIRE BT EtherCATR AR E, TRIZMEBER
BHEERE REIRG RIEEE
#tE (RIS R IR T L5 BHIRE
BEERER BAMEERIER




1 FEARIEEDEE SIME IR S iEE

BoLk FMER 2%

= BFRIPER,
I AT TR

EMITER 2%

- REREIRRBLUSLEEBIR
LLEVINERIRE

FEHEALER

= {TH/RAFEIREIR, ERE
REORBHNFIZR

HIEnERFA

- BEBATERN, P-ClhFiEs
SMEFIEhEFE,

HEhARERIR

= 24VdcE[EIR, fEfERREM
a2 ER.

FEE AR SR

- BIEEHIES, ST/ RS
Ehes BIREARERERE

PCifi&EE /)
- (BRIRENEEPC =

BB (AR EE)

BIRMLEIECOICN3/CN4

= {ABRIREHES ZANFHEL
CN3AR2EFEEAND (IN)
CN4RBLFHEE LD (OUT)

RIRRIEEhER 4N /AR I CNL
u

= BN/ ES(FERFEE)

fRIBREEHRFD 25 FB4ECN2

= E1/E2-AS2-****

fRAREEH
o

il
« EARAIRIEEhAR E @R OEX
=10 HFIES THRE A&
RS EIBAC20VEBIRIN
HEBEFRNGT
RST =HEAC220VERTREGIAN
LN L1C.L2C EHIERERRAGT

SNEBLEBEERET P®.D.C

BRIATEP @ . DZ B AT AL BIRNRE /I RS, 1EEP® . DZIBNFFEE
(RIFEEERR) HPO . CZENERINE IR BIE

HERSLHT HENIC ESHHBKN A THBLER
ERREBHERE IR F UVaw ERREBHLERE I F, FEBAAU. V. WABE %
T PE PRI T, 5 FRIRHE IR F R B SR TR I S G B AU TR AR

CJ

1 EARIREhERuR O E X

- CNZHlmO-REHEAN

» CN1=hilig O --4Rig 28t H

EX SR InkE EX Ell:: Ik
TP-1 39 | mElEEARFEDIHT) PACH 21
P2 43 |mEEgAREDET) PAQ- 2
PBO+ 25 N
SRR RS ST
Eeir) \ -4 - ==l PBO’ 23
» CNIZFIRO--BRBAGRLES
PZO+ 13
=X |31 ik — ”
piL | 9 | P-OT FUEIEFRE) PZ-OUT 44 | EEBRERIRFT R
D2 | 10 | N-OT RIERERE) GND 29 | RABOHERITRAL E S E S E S
DI3 | 34 | INMIBIT | Bistik +5V 15
PIERSVRER, B EBF200mA
DI4 | 8 |ALM-RST REE (L CAETNEE) GND 16
DI5 |33 | SON | fABRMEAE PE 95

DI6 | 32 |ZCLAMP ZUEE

DI7 | 31 |GAIN-SEL BRI

DI8 | 30 |Homeswitch | REFX

& F B ~
24 17 PIER24VER)R, FRIESERE+20~28V,

RAHHET200mA
COM- | 14 PIER24Vith, SE FBARFFRRBX PRI
COM+ | 11 EBJRAR NI, 12~24V
DO1+ | 7 |S-RDY+
EBREELF
DO1- | 6 |S-RDY-
DO2+ | 5 | COIN+
ivae=lboN
DO2- | 4 | COIN-
DO3+ | 3 | ZERO+
DO3- | 2 | ZERO-
DO4+ | 1 | ALM+ .
Eisa ]
DO4- | 26 | ALM-
DO5+ | 28 | BKOFF+ ,
i

DO5- | 27 | BKOFF-

= CN24wEI 2R RIARIR BhaR MG 75 IR D 7R

Sl | ERIERES IhaetEk
1 -
2
3 SD+ )
4 = YRIERES
5
6
7 +5V +5VEBREH
8 GND ERGNDHIH
9

IR PE

= CN3FICNAfA T S @i O 6EF

Gl = ESER balc)
1 white/orange TxData+ it
2 orange TxData- i
3 white/green RecvData+ N
4 blue Unused KEA
5 white/blue Unused FEEA
6 green RecvData- BN
7 white/brown Unused KREMA
8 brown Unused KEA




1 ARARSKRER 1 S

20V =1H220Y =1H20¢ sy TR | GENE| BERA | SEER | WORA | S | BewE | BT% | R |
58 =Wl EiRE @%ggalénﬂ
)= q q =
BS ®wW) | (Nm) | (Nm) | (Arms) | (Arms) | (minY) | (mind) |@okgmd)| (kg)
i i i 171U YRI5 B S
' ' - 40HEE
Size B Size B Size C
ASMD-04-A530B-A321 0.05 0.159 0477 0.69 207 3000 5000 0.025 042 | AS2-02BNI
AS2-02BNI AS2-04BNI AS2-10BNI AS2-15BNI AS2-30BNI
ASMD-04-0130B-A321 01 0318 0.954 127 381 3000 5000 0.046 059 |AS2-02BNI
ﬁ ﬁ GOHEE
ASMJ-06-0230B-A321 0.2 0.64 192 17 51 3000 5000 0.42 120 |AS2-02BNI
ASMJ-06-0430B-A321 0.4 127 3.81 28 8.4 3000 5000 0.68 159 |AS2-04BNI
ASMD-04-A530B ASMJ-06-0430B ASMJ-08-0830B ASMJ-11-1230B ASMH-13-09158 ASMH-13-13158
ASMJ-13-10258 BOHLEE
ASMD-04-01308 ASMJ-08-1030B ASMJ-11-15308B ASMJ-13-20258
ASMJ-13-13258 ASMJ-08-08308-A321 0.75 2.39 717 45 135 3000 4500 153 293 | AS2-10BNI
ASMJ-11-1830B ASMJ-13-15258 ASMJ-13-26258 ASMJ-08-1030B-A321-B 10 350 105 57 171 3000 4500 177 326 |AS2-10BNI
23{u4RIER B S
40HEE
ASMD-04-0130B-D321 ‘ 01 ‘ 0318 | 0.954 ‘ 127 | 381 ‘ 3000 ‘ 5000 | 0.046 ‘ 0.59 | AS2-02BNI
o % ;I'I J 60HLEE
I BHl&HEZMN
ASMJ-06-0430B-D321 ‘ 04 ’ 127 | 3.81 ‘ 28 | 8.4 ‘ 3000 ‘ 5000 | 0.68 ‘ 1.59 | AS2-04BNI
8O#EE
AS MJ - 06 - 04 30 B - A 3 2 1 - XX ASMJ-08-0830B-D321 0.75 239 717 45 135 3000 4500 153 293 |AS2-10BNI
- - - - - ASMJ-08-1030B-D321-B 1.0 35 10.5 5.7 17.1 3000 4500 177 326 |AS2-10BNI
11041
ASMJ-11-1230B-D321 12 40 120 5.0 150 3000 3500 5.4 60  [AS2-15BNI
ASMJ-11-15308-D321 15 5.0 15.0 6.0 180 3000 3100 63 680  |AS2-15BNI
ASMJ-11-1830B-D321 18 6.0 180 6.0 180 3000 3200 76 790 |AS2-15BNI
13041
ASMD:/MBE N2 A5: 50W B:220V 3R 1:Ver.1 ASMJ-13-1325B-D321 13 5.0 15.0 5.0 15.0 2500 2700 10.6 6.60  |AS2-15BNI
ASMJ KRS, AU VEE 01: 100w, 02: 200W RS ASMJ-13-15258-D321 15 6.0 180 6.0 180 2500 2900 126 740 |AS2-15BNI
ASMH: SR 2. FEE 04: 400W. 08: 750W
10: 1KW. 15: 1.5KW ASMJ-13-20258-D321 20 7.7 20 75 25 2500 2700 153 830  |AS2-30BNI
20: 2KW.30: 3KW ASMJ-13-2625B-D321 26 100 25.0 100 25.0 2500 2700 19.4 9.80  |AS2-30BNI
ASMH-13-0915B-D321-N 085 5.4 162 6.5 205 1500 3000 139 650 |AS2-15BNI
ASMH-13-0915B-D341-N 0.85 54 162 6.5 205 1500 3000 139 80  [AS2-15BNI
04:40mm. 06: 60mm 10: 1000rpm A 1T ZE) IR 2. S:SRY
08: 80mm. 09:86mm 15: 1500 rpm D BB S BN Pr e ASMH-13-1020B-D321-N 10 48 144 6.9 207 2000 4000 13.88 585 |AS2-15BNI
11:110mm. 13: 130mm 20:2000 rpm ASMH-13-1020B-D341-N 1.0 48 14.4 6.9 20.7 2000 4000 13.88 7.3 AS2-15BNI
30:3000 rpm
ASMH-13-1315B-D321-N 13 8.4 252 9.5 30.0 1500 3000 206 80  [AS2-30BNI
ASMH-13-1315B-D341-N 13 8.4 252 95 30.0 1500 3000 206 950  |AS2-30BNI

— 09 — — 10 —



— 11 —

N R
I 40mmALEEBNSATIERRERST
B HLES TEMRISEE AR S | THEEMRIDERLES
. s WIS ) ) )
RS (+TE23m) (#7E23m) (#7E23m)
ASMD-04-A530B-A321 . AS2-02BNI P1-AS1-03P08M E1-AS2-03AM
171 %
ASMD-04-0130B-A321 AS2-02BNI P1-AS1-03P08M E1-AS2-03AM
ASMD-04-0130B-D321 23fi1 AS2-02BNI P1-AS1-03P08M E1-AS2-03AM E1-AS1-03BM
E Hi H
g S
/B i I
= GG
BT i B
RS =
oLA ] }J ' oy
2917 | K
—1— J LE
dLe |
L LR

085

XX£50

A5 :P1-AS1-XXPO8M

XX50

A5 1 P5-AS1-XXP0O8M

i

0,055 J

i,

Xx:20

A5 E1-AS2-XXAM

i

XX:£20

A5 E1-AS1-XXBM

& MK AT, XX=05.08. 10

S LC LZ | LA S LB LL LR | LE LG | LW | RH W T TP
ASMD-04-A530B-A3*1 40 | 45 46 8 30 84.5 25 | 25 5 |155 | 6.2 3 3 |M3*6
ASMD-04-0130B-A3*1 40 | 45 46 8 30 [102.5(1356) | 25 | 2.5 5 |155 | 62 3 3 |[M3%6
ASMD-04-0130B-D3*1 40 | 4.5 46 8 30 102.5 25 | 25 5 |155 | 6.2 3 3 |[M3%6

R Gt , * 104 ClhEd+HIEhE8) , SEFITHHIZERBHIEY, Bh 44T IRACP5-AS1-XXPOSM

I 60mmALEBEIKARBERRZERT

|

|

T
S h
LB h7

50

g ‘ [l vy
\Gl—‘
a NI
| :,J
LG
LL LR
De

A5 1 P5-AS1-XXP0O8M

S HLES %%ﬂﬁ&ﬁﬁ%ﬁéﬁﬁ!%lﬁ@i&iﬁﬂ%&ﬁ&“%
- BB rhsRs ) ) )

adl = (+TE23m) (#7E23m) (+TE23m)

ASMJ-06-0230B-A321 AS2-02BNI P1-AS1-03P08M E1-AS2-03AM
1711 x
ASMJ-06-0430B-A321 AS2-04BNI P1-AS1-03P0SM E1-AS2-03AM
ASMJ-06-0430B-D321 23fiL AS2-04BNI P1-AS1-03P0SM E1-AS2-03AM E1-AS1-03BM
5§ [onpJ) & G-G

A5 E1-AS1-XXBM

S MK ATE, XX=05. 08,10

s LC | LZ | LA S | LB LL LR | LE | LG [LW [ RH | W T TP
ASMJ-06-0230B-A3*1 60 | 55 | 70 14 50 |112(144) | 30 3 7 16.5 11 5 5 |M5X8
ASMJ-06-0430B-A3*1 60 | 55 | 70 14 50 | 134(166) | 30 3 7 16.5 11 5 5 |M5X8
ASMJ-06-0430B-D3*1 60 | 55 | 70 14 50 | 134(166) | 30 3 7 16.5 11 5 5 |M5X8

o R2 Cilid) , * U4 Clid+HIz083) , (EFRHRIZEFBAEY, Bh I 0IEIRACP5-AS1-XXPOSM

— 12 —



— 13 —

I SOmmAEBHKZAMBERZERT

I 110mmAEBHKARERRERT

28 EALES TR ER AR S [ BRI ER AL S
_ RSB IXENIRELS
BS (#5BE3m) (#7E23m) (¥RBE3m)
ASMJ-08-0830B-A321 AS2-10BNI P1-AS1-03P08M E1-AS2-03AM
171 x
ASMJ-08-1030B-A321-B AS2-10BNI P1-AS1-03P08M E1-AS2-03AM
ASMJ-08-0830B-D321 AS2-10BNI P1-AS1-03P08M E1-AS2-03AM E1-AS1-03BM
2311
ASMJ-08-1030B-D321-B AS2-10BNI P1-AS1-03P08M E1-AS2-03AM E1-AS1-03BM
[ LW oG
E G~ e
| == g
] & 3 =
i 1
- LE
" = RiL
- LL LR

x50

.05

FS:P1-AS1-XXP08M

EJS:P5-AS1-XXPO8M

BUS E1-AS1-XXBM
T AMHKEE AT, XX=05.08.10

S LC | LZ | LA| S LB LL LR | LE | LG | LW |[RH | W T | TP
ASMJ-08-0830B-A3*1 80 | 6.5 90 19 70 | 142.2(175) 35 3 8 25 | 155 6 6 |M6X10
ASMJ-08-1030B-A321-B 80 | 6.5 90 19 70 157.2 35 3 8 25 | 155 6 6 |M6X10
ASMJ-08-0830B-D3*1 80 | 6.5 90 19 70 | 142.2(175) 35 3 8 25 | 155 6 6 [M6X10
ASMJ-08-1030B-D321-B 80 | 6.5 90 19 70 157.2 35 3 8 25 | 155 6 6 [M6X10

R Gl , * 104 Clid+51z88) , FERSHRIZERBAIEY, BhE4h i IAACP5-AS1-XXPOSM

B MAOZES | TERMREREES | HENELRALES
- ISR IREHERAS -~ - B
Be (+5E23m) (+7E23m) (+5E23m)
ASMJ-11-1230B-D321 AS2-15BAI P2-AS1-03P15F E2-AS2-03AM E2-AS1-03BM
ASMJ-11-1530B-D321 23fiL AS2-15BAI P2-AS1-03P15F E2-AS2-03AM E2-AS1-03BM
ASMJ-11-1830B-D321 AS2-15BAI P2-AS1-03P15F E2-AS2-03AM E2-AS1-03BM
4-9LE
AN
LW
2.5
, G
| | =) 1: -
| : 6Lo
PLA ]
LE
LG
LL LR
it
§ | i
BIS:P2-AS1-XXP15F, P2-AS1-XXP30F EISE2-AS2-XXAM
a L z ] - N
s
A5 E2-ASI-XXBM
S AHE EERTIE, XX=05. 08, 10
= IC | LZ|LA | S |LB LL IR | LE [ LG |W |[RH | W | T | TP
ASMJ-11-1230B-D3*1 1112 9 | 130 | 19 | 95 | 189(263) | 55 | 5 | 12 | 40 155 | 6 6 M6X25
ASMJ-11-1530B-D3*1 1112 9 | 130 | 19 | 95 | 204(278) | 55 | 5 | 12 | 40 155 | 6 6 M6x25
ASMJ-11-1830B-D3*1 1112 9 | 130 | 19 | 95 | 219(293) | 55 | 5 | 12 | 40 155 | 6 6 |M6x25

A2 Cii) , * R4 CliEd+FIzhaR) , # 22 BRI ZEECAHE B ARFE B M

— 14 —



— 15 —

1 130mmAlEBEIKARERLZERT

28 BHLES | FEERLERAT S| E AT LRSS
- YriDEsiEE IXnhegil s
BS (+7E23m) (+REZ3m) (+7E23m)
ASMJ-13-1325B-D321 AS2-15BNI P2-AS1-03P15F E2-AS2-03AM E2-AS1-03BM
ASMJ-13-1525B-D321 231 AS2-15BNI P2-AS1-03P15F E2-AS2-03AM E2-AS1-03BM
ASMJ-13-2025B-D321 AS2-30BNI P2-AS1-03P30F E2-AS2-03AM E2-AS1-03BM
ASMJ-13-2625B-D321 AS2-30BNI P2-AS1-03P30F E2-AS2-03AM E2-AS1-03BM
n GG
LW
2.5
\ G-
| g g
‘ =] :
E
G L—

LG

LR

XX 420

420

A5 1 P2-AS1-XXP15F, P2-AS1-XXP30F

U5 1 E2-AS2-XXAM

@ :r. 2 f - N
ik
L X ]
AS E2-ASI-XXBM
SE MK ATIE, XX=05. 08, 10
BnS LC Lz LA S LB LL LR LE | LG | LW | RH W T TP
ASMJ-13-1325B-D321 131 9 | 145 | 22 | 171 | 166 | 57 5 14 | 40 | 185 | 6 6 [M6x22
ASMJ-13-1525B-D321 131 9 | 145 | 22 | 110 | 179 | 57 5 14 | 40 | 185 | 6 6 [M6x22
ASMJ-13-2025B-D321 131 9 | 145 | 22 | 110 | 192 | 57 5 14 | 40 | 185 | 6 6 |M6X22
ASMJ-13-2625B-D321 131 9 | 145 | 22 | 110 | 209 | 57 5 14 | 40 | 185 | 6 6 M6x22

T HR2 CliE) , * R4 ClEt+HIE088) , R FBA AR ZERCAHE SRR B

1 130mmAEBEIKEARARERRERT

B1S 1 P6-AS1-XXPXXF

110
@i 2.5

Lo 0@

B8 MOLES | EERMREIDSELES HRREDEELES
YRIDENEEE IRzhagEl S
BS (+7EZ3m) (#rE23m) (tE23m)
ASMH-13-0915B-D321-N AS2-15BNI P6-AS1-03P15F E5-AS1-03AM
ASMH-13-0915B-D341-N AS2-15BNI P6-AS1-03P15F E5-AS1-03AM
ASMH-13-1020B-D321-N y AS2-15BNI P6-AS1-03P15F E5-AS1-03AM
23
%
ASMH-13-1020B-D341-N AS2-15BNI P6-AS1-03P15F E5-AS1-03AM
ASMH-13-1315B-D321-N AS2-30BNI P6-AS1-03P30F E5-AS1-03AM
ASMH-13-1315B-D341-N AS2-30BNI P6-AS1-03P30F E5-AS1-03AM
Oic L6
. fLE
- T~
1017 W <. |
H 66
/ L —
/ \ 6 =
e | | 3 7.
T T = 2=] W
\ ) J — =3 <&
O 1 % g RH
— | T
oA A @ﬁ} O
A 1L IR

Xt

BUS E5-AS1-XXAM

MK EE AT, XX=05

BS LC LZ LA S LB LL LR LE LG LW RH W T TP
ASMH-13-0915B-D321-N 130 85 | 145 22 110 | 147 55 6 175 40 185 6 6 -
ASMH-13-0915B-D341-N 130 85 | 145 22 110 | 170 55 6 175 40 185 6 6 -
ASMH-13-1020B-D321-N 130 85 | 145 22 110 [1475 | 55 6 17.5 40 18.5 6 6 M6X20
ASMH-13-1020B-D341-N 130 85 | 145 22 110 | 170 55 6 175 40 18.5 6 6 |[M6X20
ASMH-13-1315B-D321-N 130 85 | 145 22 110 | 167 55 6 17.5 40 18.5 6 6
ASMH-13-1315B-D341-N 130 85 | 145 22 110 | 190 55 6 175 40 18.5 6 6 -




2

1 BEELS
- EHAHRFER

1 BEHa

— 17 —

RHOE| WARHRS | B8 e BRHFER | EREERS
I PGl L vakisl EECERHRT! EREERINTE
DBEEHK B IM T 1 % JRiDeR &k S IREhER 4 PintElEE:
Z IB)IRHBE in
DBEE-9P(AK) N & ° 40.60.80,90
i ESER A==
AMP-172161-1 1 PRI E1-AS2-03AM 1 U b
AMP-170361-1 10 i
el A!.!_u_x R 40, 60, 80. 90 2 v 27 AMP-172159-1 Dﬂ DD
AMP-316454-1 2 OPHEIEREKEN 3 w 5#F :AMP-170362-1
==
AMP-172159-1 1 APEEREBIEA 4 PE
i i 8 s P5-AS1-03P08M 2 PinfiE#F %
AMP-170362-1 8 i [ T SEHF P1AS]03P08M e P 40.60.80.90 -
AMP-172157-1 1 PRI 2 [ I
o 1 BK+ 2875 AMP-172157-1
DBEEEABRIE | 1 HBRGSRHE 110, 130 (23fi) 2 BK- T LANPLT0362:-1 -
& Z RBIRSHRRLS
DBJEE-9P(A3k) 1 E2-AS2-03AM F: LAERER 4 Pinfi=s sk
SA-C2 - BEREEBN 110,130
YD28KI5TS-E 1 | o (RIDS LR AR & S EeEm
2HELFREFE
YD28KATS-E 1 e ENLHESAIES | P2-ASL-O3PISF | 4l; L PE
BE4ES = 2 U fRzstlsk:
DBEEFEREIINE | 1 BT8R SIRESE ASMH-13-0915B YD28KATS-E
- & 2 BB HRE “D34LN 3 v
DBEE-OP(ZA3k) 1 E5-AS1-03AM ASMH-13-1315B
SA-C3 AL Lﬁ%%u& 4 w
HM23-7-P 1 RIBBEMEIEL EHDEERE?
- KrcERREs sPomiE.
HM23-4-P 1 - ENAMEE. P6-AS1-03P1SF | 2HIE&RHER A T prp 130-N 351
— EYTTR - & 1 PE
1 EARPCimiAit L4
2 u fRzstlsk:
B v HM23-4-P
4 W
150020 ConnA SIRIEX Conn B 2 Pinf&tafs
5045 ‘ > *SV f e R 130-N &%
.- = 575 i
S [ [ : || 47 3 b 3
o | —— R : 8 e
o HM23-2-P
" 2 BK-
BIS1T2-AS2-1A5




I BB
- REBAMEN

o] ) i EFREHRG EESRINTE
9 PinfEHa Y
40.60.80.90
HES 2500415 17.23Bitf55
3 At
6 A-
2 B+ SD+
5 B- SD-
9875 AMP-172161-1
1 z+ BAT+ #F :AMP-170361-1
4 z- BAT-
9 +5V +5V
8 GND GND
7 PE PE
15 Pinfig sk
110,130
HS 25004155 17.23Bitf5 5
2 +5V +5V
3 GND GND
4 A+
7 A
e
5 B+ SD+ YD28K15TS-E
8 B- SD-
6 z+ BAT+
9 z BAT-
1 PE PE
4 PinfRzstdisk
— 130-N %51
RS ESEM
4 SD-
6 SD+ fnzsilsk:
s o HM23-7-P
7 +5V

1=k 0 A
I BEEREN~RNEA
SRS
@ HitH ©® KPR
@ WA=
BB hEE
@ — AL
® 78R © EfcEiiE=
YK-PLFR (Eh) ANERY 40~120
| 4% 3~8(&10)
BOREL
114% 9~64 (F&10)
| & 8arc-min
B (arcmin)
11 4R 10arc-min
| 4% 4.5Nm~120Nm
AMEHE
11 4% 16.5Nm~260Nm




1 E5EEVSZN I YK-40PLFZFMEE.R~T—%

. B P ARER R REN RS TEmt | MERA | FERAN | AARKA | BFRE | BiFdE | SR EEnifE
! ! e R | @ | gpan | HE | B | ®mE | WmE | 6% | 2
YK-OPLFOK-OHBO-O (Nm) (Nm) (rpm) | (rpm) (N) (N)  |@rcmin) | (kg.cm?)
® 20@®@606 o 3 45 9 0.031
4 6 12 0.022
@ WERSES ® Aith I 4% _
5 6 12 <10 0.019
@IMERT © AR . . 10 0017
REHINER T KESERE ROt AT
10 5 10 0.015
@ R KA D WERS 40
PL: Bt R BRI ° 165 3 0.03
12 18 36 4500 | 10000 | 160 160 0.029
@ BHBEEZINY ®@FHIS
FBT EER 15 1 % 0023
1148 <12
16 20 40 0.022
« {1 YK-80PLF5K-19-01 20 20 40 0.019
25 18 36 0.019
80: 80FERM 32 20 40 0.017
PLESITE RIEN (FHEY) 40 18 36 0.016
F: AR REE= 64 75 15 0.016
5UREREES:1
K: &L
& =FH s oy
19 ERAEHIHENG19 - i
01 :AWERR, EfthAIEIRR L
2 L3
—‘ L4
= RfI2:YK-80PLF10K-19HB14-01 T

D467
3G
111
T
|
I
L[
D6
==
|:|J
D1 h7
D2 h7

80: 80IRLERHL
PLESITEREN (S
FrhilmhREss=
100REEE10:1

K:S21EH

19HB14 EECEEHAHE P14 %% D3 DI D2 D4 Cl C2 C3 C4 C5 C6 LI 2 L3 L4 L5 L6 L8 L9 LIO Bl B2 B3
01: #RAHER, EthIEAFRR M4*10

| 4% |®8 |®10 926 |P30 45 |®50 |®3.5 |11.2 3 |M3*9 {935 [285 | 26 2 16 25 | 26 6 6 40 | 46

R |08 |o10 |026 |©30 45 |®50 |®3.5 |11.2 3 |M3"9 [106.5 | 285 | 26 2 16 25 | 26 6 6 40 | ®46 (M4*10

— 21 — — 22 —



I YK-60PLF&%5M%EE. R —% I YK-80PLFRYMERE. R —%

el | AHRA | FEAN | AANRK | BFRE | BiFmE | BR | EDRE TERE | BHRA | EHA | TEHA | BiFEH | BiFdn | SR | ZoiRE
Rt eoe AL HE HE iR 235 ke ki R+t Bk EELE HE HE 353 R ftci fatci
(Nm) (Nm) (rpm) (rpm) (N) (N) (arcmin) | (kg.cm?) (Nm) (Nm) (rpm) (rpm) (N) (N) (arcmin) | (kg.cm?)
3 12 24 0.135 3 40 80 0.77
4 16 32 0.093 4 50 100 0.52
<8 <8
| & 5 16 32 0.078 | 4% 5 50 100 0.45
8 15 30 0.065 8 45 90 0.39
10 15 30 0.054 10 45 90 0.34
60 80
9 44 88 0.131 9 110 220 0.74
12 44 88 4000 8000 340 450 0.127 12 120 240 4000 6000 650 900 0.72
15 40 80 0.077 15 110 220 0.71
1148
16 44 88 0.088 16 120 240 0.5
4
20 44 88 <10 | 0075 117 20 120 240 <10 | 044
25 40 80 0.075 25 110 220 0.44
32 44 88 0.064 32 120 240 0.39
40 40 80 0.064 40 110 220 0.39
64 18 36 0.064 64 50 100 0.39
Lt BN i N
L1 "
L3
12 P L3
] L4 — 14
I )
L9 L5 ]
Ge[r:" o ] = Dl =17 T = o 7
<t| ™ — a [a) —| ol v | ___|u <[ <
fa] L:_ L J_ ra\Rita) ’ 222, B]:Lr | Ol DJ_ ._‘ o
L7 e |
| g L7
|
j‘ ‘ '
L8 Lo || — |8 Lo ||
%#H D3 DI D2 D4 C1 C2 C3 C4 C5 C6 L1 2 13 L4 L5 L6 L8 L9 LIO BL B2 B3
®14 [®20 [®80 |50 | 90 100 |®65 | 225 | 6 Me*16 (1365 (365 [ 40 | 3 |28 | 4 |33 | 5 |10 | 80 070 |M410
| &
¥ D3 DI D2 D4 Cl C2 C3 C4 C5 C6 L1 12 L3 L4 L5 L6 L8 L9 LIO Bl B2 B3 ®19 [®20 [®80 |70 | 90 [B100 [®65 | 225 | 6 |Me'16 (1435 (435 [ 40 | 3 |28 | 4 (405 | 7 |10 | 80 090 |M512
| 4% ?)}114& 14 |D50 [D50 60 |[®70 |®55 | 16 5 |[M5*15 | 113 | 315 | 35 3 25 25 {305 5 8 60 | ®70 [M4*10 ®14 | ®20 (P80 |®50 | 90 @100 (P6.5 | 225 | 6 |ME'16 [154.5 | 365 | 40 3 28 4 33 5 10 80 |®70 | M4'10
4%
11 4% “;)lllf 014 |050 |50 | 60 |o70 lo55 | 16 | 5 M55 | 126 |315 | 35 | 3 |25 | 25 |305 | 5 | 8 | 60 |o70 Iwatio ®19 |20 [®80 |70 | 90 100 [®65 | 225 | 6 |Me*16 |1615 (435 [ 40 | 3 |28 | 4 (405 | 7 |10 | 80 090 |M512

— 23 — — 24 —



I YK-120PLF&5M%RE RYF—%&

TR | BEHRA | FEHA | IERA | BFRA | BiFmEe | BR | ZRE
R+ PR R HE HE =35 R ke ke
(Nm) (Nm) (rpm) (rpm) (N) (N) (arcmin) | (kg.cm?)
3 80 160 2.63
4 100 200 179
<8
| 4% 5 110 220 1.53
8 120 240 1.32
10 120 240 1.14
120
9 210 420 2.62
12 260 520 4000 6000 1500 2100 2.56
15 230 460 253
11 4%
16 260 520 1.75
20 260 520 <10 15
25 230 460 149
32 260 520 13
40 230 460 13
64 120 240 13
i PN
L1
ocl L2 L3 ogt
o -
: |
I o Ls
i il
I .
294 H-—8—a —5[ :
3 3 EE
e ||
! @ L7
|
I
ol
L8
%% D3 D1 D2 D4 ClI C2 C3 C4 C5 C6 L1 L2 L3 14 L5 L6 L8 L9 L0 Bl B2 B3
19 | @25 B110 |P95 | 120 |P130 |P8.5 28 8 [M10*28 [191.7 63 55 4 40 5 56 10 15 130 | 130 | M8*22
| 4%
©22 (®25 B110 [®110 | 120 |$130 (P85 28 8 |M10"28 (194.7 66 55 4 40 5 60 10 15 130 | 145 | M8*22
19 | @25 B110 |P95 | 120 |P130 |P8.5 28 8 [M10*28 [223.7 63 55 4 40 5 56 10 15 130 | 130 | M8*22
I14%
©22 [®25 H110 [®110 | 120 |P130 (P85S 28 8 [M10*28 [227.7 | 655 | 55 4 40 5 60 10 15 130 | 145 | M8 22

1 REREN~RTE

= PR RS

— RS

SiEXHIRE

- BRE
i BRI %LAE . WRSS5%LLLE

B REE
=)
o BEE B
s H3arcminllF, EBNEEE ol = PR
. R EL
i EE3~100, MEEESE o i

ErmEmALHEERIEBE

YK-HSFZF (#4t5) AIERY 42~140
1 4% 3~10
ROREL
114 15~100
1 4% 3arc-min
PR (arcmin)
11 2% 3arc-min
TEHIE TNm~378Nm




I FHSREEY a5 2 FN i YK-42HSF&5ERE. R~ —%

. S5 (HS) AR RN A= St e WA mER A BABA | mrEn mrn| Bamn Bamn]| T moEe
s ! e R | g |y | BE | BE | RE | BE | 8E | A | 8E | 8@
YK-THS F OO K- HB L -[J (Nm) | (Nm) | (rpm) | (rpm) | (N) (N) (N) (N)  (arcmin) |(kg.cm?
@ é 5 é é C_@ @ 3 7 14 240 | 270
4 10 20 270 | 300
@ FHERSI=G ® Rzt 5 10 20 290 | 330
I % 6 10 20 310 | 360
@ MR © RN p 0 20| 4000 | 8000 [ 550 [ g0 710 | 640 | <3 0.03
REEHIMER T KIESH RO ADFA%H P 10 P 310 | 210
@ REMR D HERS 9 7 14 350 | 430
HS: SR RBENMR TR 10 7 14 360 | 450
15 7 14 410 | 540
@mmfg;z:m; ®@FIS 6 0 20 20 | 550
P B 5 0 [ 10 | 2 460 | 610
25 10 20 490 | 640
= RfI1:YK-90HSF5K-19-01 28 10 20 510 | 640
30 7 14 520 | 640
\ 35 10 20 550 | 640
90: 90} % < X
BRI & I m 20 4000 | 8000 50 | 620 710 | 640 3 0.03
HS: fRILE1T 2 RER Y (FEZEY) 45 7 14 600 | 640
FrABmHRE A= 50 10 20 620 | 640
\ 60 10 20 660 | 640
51RIREES:1
70 10 20 690 | 640
K: &4 80 10 20 710 | 640
9: ISHCEEMAHE P19 90 7 14 710 | 640
N o 100 7 14 710 | 640
01:AmERR, EfAIEIRRR
e faeti " BN
2 L3
L4
= RfI2:YK-90HSF10K-19HB14-01 T
] L9 J ] L5 L6
"_—!— [
LR T | k=Y
90: 90}FEH = B - N
HS: RI51T AN (3R L ‘ L w |
. 1) s L s S a4 - ol
F: AR R A= | 8 o || g
102 BEEE10:1
K: 5215
R P 4% D3 DI D2 D4 Cl1 C2 C3 C4 C5 C6 L1 2 L3 14 L5 L6 L8 L9 LIO BlL B2 B3
19HB14: SECERHHHE 14
®8 | P12 |d35 (P30 42 |O50 (P34 14 4 |M4*7 | 885 | 155 | 26 55 | 15 2 32 3 4 42 | 46 [M410
01: ¥R, HMAIEIRRR | 4%
®14 |d12 |®35 (D30 42 (050 (934 14 4 |M4*7 | 91.5 | 16,5 26 55 15 2 32 3 4 42 | ®46 |M4*10
I|£& 8 12 |d35 |30 42 |050 (934 14 4 |M4*7 | 105 | 15.5 26 55 15 2 32 4 4 42 | d46 | M3*T

— 27 — — 28 —



B YK-60HSF&RFIERE. RI—H&K

T A TERN ARA| ErEn | Brmn [ BAgs BAwn] R [EaRE
Rt @ |k | HRE HHE =35 =35 ke ke L fe] ke
(Nm) | (Nm) | (rpm) | (rpm) (N) (N) (N) (N) |G@remin) |(kg.cm?)
3 19 37 430 310 0.22
4 28 52 470 360 0.17
5 28 52 510 390 0.16
I & 6 28 52 540 430 0.15
7 58 52 3000 6000 570 460 1200 1100 <3 0.14
8 28 52 600 480 0.14
9 19 37 620 510 0.14
10 19 37 640 530 0.14
15 19 37 740 630 0.14
16 28 52 750 650 0.14
60 20 28 52 810 720 0.13
25 28 52 870 790 0.13
28 28 52 910 830 0.14
30 19 37 930 860 0.13
1148 > 2 22 3000 6000 950 20 1200 1100 <3 0.3
40 28 52 1000 970 0.13
45 19 37 1100 1000 0.13
50 28 52 1100 1100 0.13
60 28 52 1200 1100 0.13
70 28 52 1200 1100 0.13
80 28 52 1200 1100 0.13
90 19 37 1200 1100 0.13
100 19 37 1200 1100 0.13
K HINi
13
14
= 4-83
15 | 16
== o
1 N
7
== .
o || S
% D3 DI D2 D4 Cl C2 C3 C4 C5 Cb 1 12 13 14 L5 L6 L8 19 L0 Bl B2 B3
@8 |16 |®50 |®50 | 60 |70 |055 | 18 | 5 [ms12 | 112 (155 | 37 | 6 |20 | 2 [ 32 | 5 | 6 | 52 |o70 | a9
| 4% |14 |o16 |50 |050 | 60 | @70 (055 | 18 | 5 [ms'12 | 115 165 | 37 | 6 |20 | 2 |35 | 5 | 6 | 65 |o70 | mag
©19 | 016 |©50 |©50 | 60 |®70 |055 | 18 | 5 M52 | 130 [ 25 | 37 | 6 |20 | 2 |50 | 5 | 6 | 80 |00 | 4o
o8 |016 |050 |@50 | 60 | @70 |055 | 18 | 5 |Ms12 | 131 {155 | 37 | 6 |20 | 2 |32 | 5 | 6 | 52 |o70 | M
1125 ®14 |016 |©50 |©50 | 60 | @70 |o55 | 18 | 5 |Ms'12 | 136 [165 | 37 | 6 |20 | 2 |35 | 5 | § | 65 |®70 | a9

I YK-9Q0HSFRFIERE. R —%

&

T BHEA mERA BB mren | aren Bagn B Sr |ore
Rt S |k, | HE % 23 235 ke ki ki ki
(Nm) | (Nm) | (rpm) | (rpm) (N) (N) (N) (N)  [@@rcmin) |(kg.cm?)
3 52 84 810 930 12
4 78 130 890 | 1100 0.95
5 78 130 960 1200 0.86
I & 6 78 130 1000 1300 0.82
7 78 130 3000 6000 1100 1300 2400 | 2200 <3 0.79
8 78 130 1100 1400 0.77
9 52 84 1200 1500 0.76
10 52 84 1200 1600 0.75
15 52 84 1400 1900 0.72
16 78 130 1400 1900 0.74
90 20 78 130 1500 2100 0.72
25 78 130 1600 2200 0.71
28 78 130 1700 2200 0.73
30 52 84 1700 2200 0.7
114K = s 10 3000 6000 1800 2200 2400 | 2200 <3 0.1
40 78 130 1900 2200 = 0.7
45 52 84 2000 2200 0.71
50 78 130 2100 2200 0.69
60 78 130 2200 2200 0.69
70 78 130 2300 2200 0.69
80 78 130 2400 2200 0.69
90 52 84 2400 2200 0.69
100 52 84 2400 2200 0.69
i u PN
13
» " oB1
a e
T < S
<2 L9 L5 16 N Z8N
e LT e s
V| VU o i
i3 i_;____- J i J
I 7 L
c6 L ‘ in ) W % N.B2
| 18 o || g T’
¥ D3 D1 D2 D4 ClL C2 C3 C4 C5 C6 L1 2 L3 L4 L5 L6 L8 L9 L0 Bl B2 B3
014 (022 |®80 [®70 | 90 [®100 (066 | 245 | 6 |M816 | 143 |165 | 48 | 9 [30 | 2 |35 | 6 | 8 | 65 |09 |Me13
| 4% | @19 [022 |80 |®70 | 90 |0100 |06.6 |245 | 6 |Mg16 [ 153 | 25 [ 48 | 9 |30 | 2 |50 | 6 | 8 | 80 o090 |Me13
®28 |22 | ©80 |70 | 90 100 |66 | 245 | 6 |M8'16 [ 170 | 35 | 48 | 9 [30 | 2 |67 | 6 | 8 | 130|090 |Me'13
@8 022 |80 [®70 | 90 |b100 [06.6 |24.5 | 6 |M816 | 160 [155 | 48 | 9 |30 | 2 [ 32 | 6 | 8 | 52 |@%0 |Me13
4% | 014 [©22 | 080 |070 | 90 |0100 [06.6 | 245 | 6 [M8'16 | 165 [165 | 48 | 9 |30 | 2 |35 | 6 | 8 | 65 |o90 |Me13
©19 (022 |®80 [®70 | 90 |®100 |66 | 245 | 6 |M816 | 175 | 25 | 48 | 9 [30 | 2 |50 | 6 | & | 80 [®%0 |me13




I YK-115HSFRFIERE. R —R&

e N o e e e e L e
Rt max |k, | HE HE 2353 353 ftci ftci atci atci
(Nm) | (Nm) | (rpm) | (rpm) (N) (N) (N) (N)  [@rcmin) |(kg.cm?)
3 126 236 1300 1500 53
4 126 346 1500 1700 4.1
5 189 346 1600 1900 3.6
I & 6 189 346 1700 2000 33
7 189 346 3000 6000 1800 2100 4300 3900 <3 32
8 189 346 1900 2300 3.1
9 126 236 1900 2400 3.0
10 126 236 2000 2500 3.0
15 126 236 2300 3000 2.8
16 189 346 2300 3100 29
115 20 | 189 | 346 2500 | 3400 28
25 189 346 2700 3700 2.8
28 189 346 2800 3900 2.8
30 126 236 2900 3900 2.7
114k = 189 6 3000 6000 2000 3900 4300 3900 <3 21
40 189 346 3200 3900 = 2.7
45 126 236 3300 3900 2.7
50 189 346 3400 3900 2.7
60 189 346 3600 3900 2.7
70 189 346 3800 3900 2.7
80 189 346 4000 3900 2.7
90 126 236 4200 3900 2.7
100 126 236 4300 3900 2.7
bl g PN
13
0 " 081
e} N L
J — < \/,8(’ 4-83
<2 |9 s | 16 & 7Y
j gi_;_____ ] a0 f
I 7
C6 L] N B2
‘ = o j8{\ &) x
| 18 o || 5 ~
&% D3 DI D2 D4 ClL C2 C3 C4 C5 C6 L1 L2 L3 L4 L5 L6 L8 L9 L0 Bl B2 B3
®19 |32 [®110 (0110 | 115 [®130 | ®9 | 35 |10 |M12:25| 187 | 25 | 65 | 4 [50 | 2 |50 | 8 | 10 | 80 |®145 | MeL7
| 4B |28 [©32 |0110 110 | 115 |®130 | ©9 | 35 |10 [M1225| 204 | 35 | 65 | 4 |50 | 2 |67 | 8 | 10 | 130 |o145 | Mg'17
®38 |32 [®110 (0110 | 115 4130 | ®9 | 35 |10 |M1225| 225 | 45 | 65 | 4 [50 | 2 | 82 | 8 | 10 | 180 |®145 | M7
®14 |32 (6110 (G110 | 115 (4130 | ®9 | 35 | 10 |M1225 (2045 | 165 | 65 | 4 |50 | 2 | 35 | 8 | 10 | 65 |®145 | M8 17
1145 |19 [®32 110 110 | 115 |®130 | 9 | 35 |10 [M1225(2145 | 25 | 65 | 4 |50 | 2 [ 50 | 8 | 10 | 80 |o145 | Mg'17
®28 |32 [®110 (0110 | 115 4130 | ®9 | 35 |10 [M12:25 (2315 | 35 | 65 | 4 |50 | 2 | 67 | 8 | 10 | 130 |o145 | MELT

I YK-140HSFRFIERE. R —R&

e | MHSA FERN MARA | BIFRE | BiHE | RARm| BAim| SR |[ZiRE
R | g |y | HE | BE | BE | RBE | 0 | 0E | A | 66
(Nm) (Nm) | (rpm) | (rpm) (N) (N) (N) (N) |G@rcmin) |(kg.cm?
3 252 | 483 3200 | 2400 20
4 252 | 735 3500 | 2700 15
5 3718 | 735 3800 | 3000 14
I & 6 378 | 7135 4000 | 3300 13
p 378 | 735 | 2000 | 4000 [ 500 [ 3509 | 9100 | 8200 | <3 B
8 378 | 135 4400 | 3700 12
9 252 | 483 4600 | 3900 11
10 252 | 483 4700 | 4100 11
15 252 | 483 5400 | 4900 11
16 378 | 735 5500 | 5000 11
140 20 3718 | 735 6000 | 5500 11
25 378 | 735 6400 | 6100 11
28 3718 | 7135 6700 | 6400 11
30 252 | 483 6800 | 6600 10
114 = LB 4000 | 4000 1200 1 70001 o100 | g200 <3 =
40 378 | 735 7500 | 7500 10
45 252 | 483 7800 | 7900 11
50 378 | 483 8100 | 8200 10
60 378 | 483 8600 | 8200 10
70 378 | 483 9100 | 8200 10
80 378 | 483 9100 | 8200 10
9 252 | 483 9100 | 8200 10
100 | 252 | 483 9100 | 8200 10
it B EIN
’L’I L“—ﬁ
e [
. — 3
|
L ‘ [
| 18 o || =
&% D3 DI D2 D4 Cl C2 C3 C4 C5 C6 L1 2 13 14 L5 L6 L8 L9 LI0O BLI B2 B3
©28 |40 |®130 [@114.3 (140 (165 | d11 | 43 12 |M16*32 | 249 35 97 12 | 70 3 67 8 12 | 130 [®200 |M12*25
|i& @38 [ D40 [d130 [114.3 [140 |d165 | 11| 43 | 12 |M16*32 | 264 35 97 12 | 70 3 82 8 12 | 180 |®200 [M12*25
D48 | D40 |®130 @114.3 (140 (165 | ®11 | 43 12 |M16*32 | 305 35 97 12 | 70 3 118 8 12 | 180 |®200 (M12*25
©19 |40 (d130 (®114.3 [140 [d165 | d11 | 43 12 |M16*32 | 266.5 35 97 12 | 70 3 50 8 12 80 |$200 (M12*25
||2& ©28 |40 |®130 @114.3 (140 165 | d11 | 43 12 |M16*32 | 283.5 35 97 12 | 70 3 67 8 12 130 |$200 [M12*25
©38 | ®40 (P130 [®114.3 [140 [d165 | d11 | 43 12 |M16*32 | 298.5 35 97 12 | 70 3 82 8 12 | 180 |®200 (M12*25




— 33 —

FRISHM =

NE) 2

Hoak RIS ERFT KR R AR EB3#K5A. 5B. 6B T

FB1E:0755-86142288 86142255
£H:0755-86142266 86142258

ARINEF A&

sk SRYIT R LUK S ALCCH PR RS 75 = R K E 81£A802

BB1E:0755-86571196 86955513

i abi=s /N

st EETHALIERHRERIEREH A XFERL ARK5185 241854
E81E:021-64329096 64329097 64329098

£H:021-64329099

tmEmEL

I EL
FHLnEL

FRLER MR &b

EXDER
BRMEL
B EL
KvmEL

TRDEL
M EL
FanEst
BENEL

T EL
EWLmEL
RARAEL
aEMEL




